ADVERTISEMENT SITE DETAILS OF M.C. GOHANA																
S. NO.	DESCRIPTION OF ROAD	ZONE NO.	WARD NO.	TENTATIVE LOCATION SITE OF OMD, IT MAY BE SLIGHTLY VARRIED ON SAME ROAD/LOCATION	ADVT. PORTAL ID NO.	TYPOLOGY DESCRIPTION	NO. OF SITE/MC ID NO.	SIZE OF OMD	AREA OF OMD (SQ. MT.)	COLLECTOR RATE (PER SQ. YD.)	COLLECTOR RATI (PER SQ. MT.)	RESERVE PRICE 2% OF COLLECTOR RATE PER SQ MT. PER MONTH	1st TIME RESERVE PRICE 2% OF COLLECTOR RATE PER SQ MT. PER MONTH OF TOTAL AREA OF OMD ON MONTH FEB. 2024	1st TIME EMD 10% OF OMD AMOUNT ON TOTAL COST OF 3 YEAR	TENTATIVE PHOTO NEAR BY SITE OF OMD, IT MAY BE SLIGHTLY VARRIED ON SAME ROAD/LOCATION	REMARKS
1	MCGH/2024/001 - ROHTAK- PANIPAT ROAD (IN BETWEEN AMBEDKAR CHOWK TO GAJRAJ ROAD JN.)	1	13	https://goo.gl/maps/RK5QiZRW3dVyqmDE7	7468	TYPOLOGY-B	MCGH/2024/001	4.6 X 3.05	14.03	40000	33440	669	9383	33780	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
2	MCGH/2024/002 - ROHTAK- PANIPAT ROAD (IN BETWEEN GAJRAJ ROAD JN. TO AMBEDKAR CHOWK)	1	13	https://goo.gl/maps/88eSBeScuBamfqeNA	7469	TYPOLOGY-B	MCGH/2024/002	4.6 X 3.05	14.03	40000	33440	669	9383	33780	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
3	MCGH/2024/003 - ROHTAK- PANIPAT ROAD (IN BETWEEN GAJRAJ ROAD JN. TO SECTOR 7 ROAD JN.)	1	14	https://goo.gl/maps/wPQAXafHC5P9sUNHA	7470	TYPOLOGY-B	MCGH/2024/003	4.6 X 3.05	14.03	19000	15884	318	4457	16045	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
4	MCGH/2024/004 - ROHTAK- PANIPAT ROAD (IN BETWEEN SECTOR 7 ROAD JN. TO GAJRAJ ROAD JN.)	1	15	https://goo.gl/maps/FnRCioXsLzNAdYdS6	7471	TYPOLOGY-B	MCGH/2024/004	4.6 X 3.05	14.03	19000	15884	318	4457	16045	AS PER ATTACHED IN PORTAL ID	
5	MCGH/2024/005 - ROHTAK- PANIPAT ROAD (IN BETWEEN SECTOR 7 ROAD JN. TO DRAIN NO. 8 JN.)	1	14	https://goo.gl/maps/RGCpKTfUaQvBVpPV7	7472	TYPOLOGY-B	MCGH/2024/005	4.6 X 3.05	14.03	13000	10868	217	3050	10978	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
6	MCGH/2024/006 - ROHTAK- PANIPAT ROAD (IN BETWEEN SECTOR 7 ROAD JN. TO DRAIN NO. 8 JN.)	1	14	https://goo.gl/maps/A1CvqRiLidZtBBwv8	7473	TYPOLOGY-B	MCGH/2024/006	4.6 X 3.05	14.03	13000	10868	217	3050	10978	AS PER ATTACHED IN PORTAL ID	
7	MCGH/2024/007 - ROHTAK- PANIPAT ROAD (IN BETWEEN SECTOR 7 ROAD JN. TO DRAIN NO. 8 JN.)	1	14	https://goo.gl/maps/Ya4gfM87RUAmq8tG8	7474	TYPOLOGY-B	MCGH/2024/007	4.6 X 3.05	14.03	13000	10868	217	3050	10978	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
8	MCGH/2024/008 - ROHTAK- PANIPAT ROAD (IN BETWEEN DRAIN NO. 8 JN. TO SECTOR 7 ROAD JN.)	1	16	https://goo.gl/maps/i11xQMX7oo3szXB27	7475	TYPOLOGY-B	MCGH/2024/008	4.6 X 3.05	14.03	13000	10868	217	3050	10978	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
9	MCGH/2024/009 - ROHTAK- PANIPAT ROAD (IN BETWEEN DRAIN NO. 8 JN. TO SECTOR 7 ROAD JN.)	1	16	https://goo.gl/maps/fVczaSjzd9ZXH6BH9	7476	TYPOLOGY-B	MCGH/2024/009	4.6 X 3.05	14.03	13000	10868	217	3050	10978	AS PER ATTACHED IN PORTAL	
10	MCGH/2024/010 - ROHTAK- PANIPAT ROAD (IN BETWEEN DRAIN NO. 8 JN. TO SECTOR 7 ROAD JN.)	1	16	https://goo.gl/maps/b616VhckTrVD9LpF6	7477	TYPOLOGY-B	MCGH/2024/010	4.6 X 3.05	14.03	13000	10868	217	3050	10978	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
11	MCGH/2024/011 - ROHTAK- PANIPAT ROAD (IN BETWEEN AMBEDKAR CHOWK TO PARSHURAM	1	13	https://goo.gl/maps/DybwU56VNigCgxpN8	7478	TYPOLOGY-B	MCGH/2024/011	4.6 X 3.05	14.03	40000	33440	669	9383	33780	AS PER ATTACHED IN PORTAL	
12	MCGH/2024/012 - ROHTAK- PANIPAT ROAD (IN BETWEEN AMBEDKAR CHOWK TO PARSHURAM	1	13	https://goo.gl/maps/PVaxyBy7EjHVpUJy9	7479	TYPOLOGY-B	MCGH/2024/012	4.6 X 3.05	14.03	40000	33440	669	9383	33780	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
13	MCGH/2024/013 - ROHTAK- PANIPAT ROAD (IN BETWEEN PARSHURAM CHOWK JN. TO AMBEDKAR	1	13	https://goo.gl/maps/ZgehoydU73WfByy26	7480	TYPOLOGY-B	MCGH/2024/013	4.6 X 3.05	14.03	40000	33440	669	9383	33780	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
14	MCGH/2024/014 - ROHTAK- PANIPAT ROAD (IN BETWEEN PARSHURAM CHOWK JN. TO AMBEDKAR	1	13	https://goo.gl/maps/JRZ9Z4Y453TJ529n6	7481	TYPOLOGY-B	MCGH/2024/014	4.6 X 3.05	14.03	40000	33440	669	9383	33780	AS PER ATTACHED IN PORTAL	
15	MCGH/2024/015 - ROHTAK- PANIPAT ROAD (IN	1	10	https://goo.gl/maps/PrroocaeQzTszBUv9	7482	TYPOLOGY-B	MCGH/2024/015	4.6 X 3.05	14.03	20000	16720	334	4692	16890	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
16	BETWEEN PARSHU RAM CHOWK JN. TO PANIPAT MCGH/2024/016 - ROHTAK- PANIPAT ROAD (IN	1	10	https://goo.gl/maps/HhVdooDaPKhmdHf29	7483	TYPOLOGY-B	MCGH/2024/016	4.6 X 3.05	14.03	20000	16720	334	4692	16890	AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
17	BETWEEN PARSHU RAM CHOWK JN. TO PANIPAT MCGH/2024/017 - ROHTAK- PANIPAT ROAD (IN	1	10	https://goo.gl/maps/ux31ymBhJR8pfYPMA	7484	TYPOLOGY-B	MCGH/2024/017	4.6 X 3.05	14.03	20000	16720	334	4692	16890	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
18	BETWEEN PARSHU RAM CHOWK JN. TO PANIPAT MCGH/2024/018 - ROHTAK- PANIPAT ROAD (IN	1	10	https://goo.gl/maps/d5C934kBjyoZHYzy6	7484	TYPOLOGY-B	MCGH/2024/017	4.6 X 3.05	14.03	17000	14212	284	3988	14356	AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
19	BETWEEN PANIPAT CHUNGI TO JYOTIBA PHULE COWK MCGH/2024/019 - ROHTAK- PANIPAT ROAD (IN		_	https://goo.gl/maps/zmHNk3vfSKvMsmvW8	7485	TYPOLOGY-B	MCGH/2024/019	4.6 X 3.05	14.03	17000	14212	284	3988	14356	AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
20	BETWEEN PANIPAT CHUNGI TO JYOTIBA PHULE COWK MCGH/2024/020 - ROHTAK- PANIPAT ROAD (IN	1	10		7487	TYPOLOGY-B	MCGH/2024/019	4.6 X 3.05	14.03	17000	14212	284	3988	14356	AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
	BETWEEN JYOTIBA PHULE COWK JN. TO PANIPAT MCGH/2024/021 - ROHTAK- PANIPAT ROAD (IN	1		https://goo.gl/maps/EXYwERG9TDApGSAA8						17000		284	3988		AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
21	BETWEEN JYOTIBA PHULE COWK JN. TO PANIPAT MCGH/2024/022 - GOHANA- SONIPAT ROAD (IN	1	10	https://goo.gl/maps/z4GiKUSCJ4zRvFfQ7	7488	TYPOLOGY-B TYPOLOGY-B	MCGH/2024/021	4.6 X 3.05	14.03	23000	19228	385	5395	14356	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
	BETWEEN PARSHU RAM CHOWK JN. TO SABJI MANDI) MCGH/2024/023 - GOHANA- SONIPAT ROAD (IN	1	10	https://goo.gl/maps/HWitgpzPLUAZBeTP9	7489		MCGH/2024/022	4.6 X 3.05							AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
23	BETWEEN PARSHU RAM CHOWK JN. TO SABJI MANDI) MCGH/2024/024 - GOHANA- SONIPAT ROAD (IN	1	10	https://goo.gl/maps/GiVmGa9spptC5x9r5	7490	TYPOLOGY-B	MCGH/2024/023	4.6 X 3.05	14.03	23000	19228	385	5395	19423	ID	INSTAL ALL STRUCTURE FACILITY REQUIRED
24	BETWEEN PARSHU RAM CHOWK JN. TO SABJI MANDI) MCGH/2024/025 - GOHANA- SONIPAT ROAD (IN	1	10	https://goo.gl/maps/9ADQKokuW8Wonk7J7	7491	TYPOLOGY-B	MCGH/2024/024	4.6 X 3.05	14.03	23000	19228	385	5395	19423	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
25	BETWEEN PARSHU RAM CHOWK JN. TO SABJI MANDI)	1	10	https://goo.gl/maps/UhnTVQR9ZHJFWpy48	7492	TYPOLOGY-B	MCGH/2024/025	4.6 X 3.05	14.03	23000	19228	385	5395	19423	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
26	MCGH/2024/026 - GOHANA- SONIPAT ROAD (IN BETWEEN PARSHU RAM CHOWK JN. TO SABJI MANDI)	1	10	https://goo.gl/maps/ab9ihaX1uvyTMAxY8	7493	TYPOLOGY-B	MCGH/2024/026	4.6 X 3.05	14.03	23000	19228	385	5395	19423	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
27	MCGH/2024/027 - GOHANA- SONIPAT ROAD (IN BETWEEN SABJI MANDI TO PARSHU RAM CHOWK JN.)	1	10	https://goo.gl/maps/BoF6zQCNugBrzRfq6	7494	TYPOLOGY-B	MCGH/2024/027	4.6 X 3.05	14.03	23000	19228	385	5395	19423	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
28	MCGH/2024/028 - GOHANA- SONIPAT ROAD (IN BETWEEN SABJI MANDI TO PARSHU RAM CHOWK JN.)	1	10	https://goo.gl/maps/4g83dPewTxeGdu8n9	7495	TYPOLOGY-B	MCGH/2024/028	4.6 X 3.05	14.03	23000	19228	385	5395	19423	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
29	MCGH/2024/029 - GOHANA- SONIPAT ROAD (IN BETWEEN SABJI MANDI TO PARSHU RAM CHOWK JN.)	1	10	https://goo.gl/maps/Gaj8FNvAUMbePhew5	7496	TYPOLOGY-B	MCGH/2024/029	4.6 X 3.05	14.03	23000	19228	385	5395	19423	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
30	MCGH/2024/030 - GOHANA- SONIPAT ROAD (IN BETWEEN SABJI MANDI TO PARSHU RAM CHOWK JN.)	1	10	https://goo.gl/maps/VPiTNyMfQQ941kjv5	7497	TYPOLOGY-B	MCGH/2024/030	4.6 X 3.05	14.03	23000	19228	385	5395	19423	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
31	MCGH/2024/031 - GOHANA- SONIPAT ROAD (IN BETWEEN SABJI MANDI TO PARSHU RAM CHOWK JN.)	1	10	https://goo.gl/maps/LtojmpUMa7DtmXHs8	7498	TYPOLOGY-B	MCGH/2024/031	4.6 X 3.05	14.03	23000	19228	385	5395	19423	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
32	MCGH/2024/032 - DRAIN -8 ROAD (IN BETWEEN PARSHU RAM CHOWK JN. TO VISHNUNAGAR MOD)	1	10	https://goo.gl/maps/mEecxgB6Ug3Rqy8P6	7499	TYPOLOGY-B	MCGH/2024/032	4.6 X 3.05	14.03	12500	10450	209	2932	10556	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
33	MCGH/2024/033 - DRAIN -8 ROAD (IN BETWEEN PARSHU RAM CHOWK JN. TO VISHNUNAGAR MOD)	1	10	https://goo.gl/maps/TSUngis6fqnQi6ps7	7500	TYPOLOGY-B	MCGH/2024/033	4.6 X 3.05	14.03	12500	10450	209	2932	10556	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
34	MCGH/2024/034 - DRAIN -8 ROAD (IN BETWEEN VISHNUNAGAR MOD TO ROHTAK ROAD JN.)	1	14	https://goo.gl/maps/iuU5Ame8xxxC9CxE6	7501	TYPOLOGY-B	MCGH/2024/034	4.6 X 3.05	14.03	12500	10450	209	2932	10556	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
35	MCGH/2024/035 - DRAIN -8 ROAD (IN BETWEEN VISHNUNAGAR MOD TO ROHTAK ROAD JN.)	1	14	https://goo.gl/maps/QbQE8G8pFysxTnSs5	7502	TYPOLOGY-B	MCGH/2024/035	4.6 X 3.05	14.03	12500	10450	209	2932	10556	AS PER ATTACHED IN PORTAL ID	
36	MCGH/2024/036 - DRAIN -8 ROAD (IN BETWEEN VISHNUNAGAR MOD TO ROHTAK ROAD JN.)	1	14	https://goo.gl/maps/rSZgUdFxsrBKcpBM8	7503	TYPOLOGY-B	MCGH/2024/036	4.6 X 3.05	14.03	12500	10450	209	2932	10556	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
37	MCGH/2024/037 - DRAIN -8 ROAD (IN BETWEEN VISHNUNAGAR MOD TO ROHTAK ROAD JN.)	1	14	https://goo.gl/maps/bDpsVnQmr9DHfZvq6	7504	TYPOLOGY-B	MCGH/2024/037	4.6 X 3.05	14.03	12500	10450	209	2932	10556	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
38	MCGH/2024/038 - DRAIN -8 ROAD (IN BETWEEN VISHNUNAGAR MOD TO ROHTAK ROAD JN.)	1	14	https://goo.gl/maps/doi7QA11yLjF8uxZ9	7505	TYPOLOGY-B	MCGH/2024/038	4.6 X 3.05	14.03	12500	10450	209	2932	10556	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
39	MCGH/2024/039 - GOHANA- MAHAM ROAD (IN BETWEEN SURAJMAL CHOWK JN. TO VISHAVKARMA	3	15	https://goo.gl/maps/SwxLDsHcoiWegpuMA	7506	TYPOLOGY-B	MCGH/2024/039	4.6 X 3.05	14.03	35000	29260	585	8210	29557	AS PER ATTACHED IN PORTAL	
					-				1		1	-	1		*	

40	MCGH/2024/040 - GOHANA- MAHAM ROAD (IN BETWEEN VISHAVKARMA CHOWK JN. TO SURAJMAL	3	11	https://goo.gl/maps/X5xoRL3yZrEH387D7	7507	TYPOLOGY-B	MCGH/2024/040	4.6 X 3.05	14.03	35000	29260	585	8210	29557	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
41	MCGH/2024/041 - GOHANA- MAHAM ROAD (IN BETWEEN VISHAVKARMA CHOWK JN. TO RAILWAY	3	17	https://goo.gl/maps/medxmDupo9sBrWXx9	7508	TYPOLOGY-B	MCGH/2024/041	4.6 X 3.05	14.03	18000	15048	301	4222	15201	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
42	CROSSING) MCGH/2024/042 - GOHANA- MAHAM ROAD (IN BETWEEN VISHAVKARMA CHOWK JN. TO RAILWAY CROSSING)	3	17	https://goo.gl/maps/stxYZd5ttpmdPmQeA	7509	TYPOLOGY-B	MCGH/2024/042	4.6 X 3.05	14.03	18000	15048	301	4222	15201	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
43	MCGH/2024/043 - GOHANA- MAHAM ROAD (IN BETWEEN VISHAVKARMA CHOWK JN. TO RAILWAY CROSSING)	3	23	https://goo.gl/maps/UaVvsLfQ9xFv9WEMA	7510	TYPOLOGY-B	MCGH/2024/043	4.6 X 3.05	14.03	18000	15048	301	4222	15201	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
44	MCGH/2024/044 - GOHANA- MAHAM ROAD (IN BETWEEN VISHAVKARMA CHOWK JN. TO RAILWAY CROSSING)	3	23	https://goo.gl/maps/ZszBNUBVSGQNby4y9	7511	TYPOLOGY-B	MCGH/2024/044	4.6 X 3.05	14.03	18000	15048	301	4222	15201	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
45	MCGH/2024/045 - GOHANA- MAHAM ROAD (IN BETWEEN RAILWAY CROSSING TO VISHAVKARMA CHOWK JN.)	3	23	https://goo.gl/maps/zRmgvvfmbCI6Gqsb7	7512	TYPOLOGY-B	MCGH/2024/045	4.6 X 3.05	14.03	18000	15048	301	4222	15201	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
46	MCGH/2024/046 - GOHANA- MAHAM ROAD (IN BETWEEN RAILWAY CROSSING TO VISHAVKARMA CHOWK JN.)	3	23	https://goo.gl/maps/ddCoUvtPneaJ2sg25	7513	TYPOLOGY-B	MCGH/2024/046	4.6 X 3.05	14.03	18000	15048	301	4222	15201	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
47	MCGH/2024/047 - GOHANA- MAHAM ROAD (IN BETWEEN RAILWAY CROSSING TO VISHAVKARMA CHOWK JN.)	3	20	https://goo.gl/maps/39oR7xxF8z4Bjfd4A	7514	TYPOLOGY-B	MCGH/2024/047	4.6 X 3.05	14.03	18000	15048	301	4222	15201	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
48	MCGH/2024/048 - GOHANA- MAHAM ROAD (IN BETWEEN RAILWAY CROSSING TO VISHAVKARMA CHOWK JN.)	3	20	https://goo.gl/maps/hRn1dFSkxjb3kKNu5	7515	TYPOLOGY-B	MCGH/2024/048	4.6 X 3.05	14.03	18000	15048	301	4222	15201	ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
49	MCGH/2024/049 - GOHANA- MAHAM ROAD (IN BETWEEN RAILWAY CROSSING TO BYE PASS JN.)	2	1	https://goo.gl/maps/r2jJDXquJd5yuRX58	7516	TYPOLOGY-B	MCGH/2024/049	4.6 X 3.05	14.03	18000	15048	301	4222	15201	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
50	MCGH/2024/050 - GOHANA- MAHAM ROAD (IN BETWEEN BYE PASS JN. TO MC LIMIT)	2	1	https://goo.gl/maps/2Rx8Qu27DwVDHTQg6	7517	TYPOLOGY-B	MCGH/2024/050	4.6 X 3.05	14.03	18000	15048	301	4222	15201	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
51	MCGH/2024/051 - CIVIL ROAD (AMBEDKAR CHOWK TO	4	15	https://goo.gl/maps/9nYDi2wLRppoHxvZ8	7518	TYPOLOGY-B	MCGH/2024/051	4.6 X 3.05	14.03	45100	37704	754	10580	38087	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
52	SURAJMAL CHOWK JN.) MCGH/2024/052 - CIVIL ROAD (SURAJMAL CHOWK JN.	4	11	https://goo.gl/maps/KsjxsRRqWkgtZLR8A	7519	TYPOLOGY-B	MCGH/2024/052	4.6 X 3.05	14.03	46000	38456	769	10791	38847	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
	TO VALMIKI CHOWK JN.)) MCGH/2024/053 - CIVIL ROAD (VALMIKI CHOWK JN.	4													AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
53	TO SAMTA CHOWK JN.) MCGH/2024/054 - CIVIL ROAD (SAMTA CHOWK JN. TO	4	8	https://goo.gl/maps/ZmSrxBCWWnw8ovZBA	7520	TYPOLOGY-B	MCGH/2024/053	4.6 X 3.05	14.03	46000	38456	769	10791	38847	ID	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
54	CHHOTURAM CHOWK JN.)	4	8	https://goo.gl/maps/jxLVi9SvtrZiGRys6	7521	TYPOLOGY-B	MCGH/2024/054	4.6 X 3.05	14.03	46000	38456	769	10791	38847	ID	INSTAL ALL STRUCTURE FACILITY REQUIRED
55	MCGH/2024/055 - CIVIL ROAD (CHHOTURAM CHOWK JN. TO SAMTA CHOWK JN.)	4	6	https://goo.gl/maps/h3MwY2oZkNHEgndt9	7522	TYPOLOGY-B	MCGH/2024/055	4.6 X 3.05	14.03	46000	38456	769	10791	38847	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
56	MCGH/2024/056 - CIVIL ROAD (CHHOTURAM CHOWK JN. TO OLD ANAJMANDI GATE)	4	8	https://goo.gl/maps/759QrEf16xokrc4u5	7523	TYPOLOGY-B	MCGH/2024/056	4.6 X 3.05	14.03	46000	38456	769	10791	38847	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
57	MCGH/2024/057 - CIVIL ROAD (CHHOTURAM CHOWK	4	8	https://goo.gl/maps/CqhUZcGaMNXEcpfw8	7524	TYPOLOGY-B	MCGH/2024/057	4.6 X 3.05	14.03	46000	38456	769	10791	38847	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
58	JN. TO OLD ANAJMANDI GATE) MCGH/2024/058 - GOHANA-JIND ROAD (CHHOTURAM CHOWK JN. TO RAILWAY OVER BRIDGE)	4	6	https://goo.gl/maps/57uWwKD8Ann3TUSh8	7525	TYPOLOGY-B	MCGH/2024/058	4.6 X 3.05	14.03	28000	23408	468	6568	23646	AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
59	MCGH/2024/059 - GOHANA-JIND ROAD (CHHOTURAM CHOWK JN. TO RAILWAY OVER BRIDGE)	4	6	https://goo.gl/maps/JLtzoHr16BGZqbWk9	7526	TYPOLOGY-B	MCGH/2024/059	4.6 X 3.05	14.03	28000	23408	468	6568	23646	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
60	MCGH/2024/060 - GOHANA-JIND ROAD (RAILWAY	4	4	https://goo.gl/maps/KRiwxg2uSUdJsGMY7	7527	TYPOLOGY-B	MCGH/2024/060	4.6 X 3.05	14.03	23000	19228	385	5395	19423	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
61	OVER BRIDGE TO BYE PASS ROAD JN.) MCGH/2024/061 - GOHANA-JIND ROAD (RAILWAY	4	4	https://goo.gl/maps/iVoNazuRJFRcqmJz6	7528	TYPOLOGY-B	MCGH/2024/061	4.6 X 3.05	14.03	23000	19228	385	5395	19423	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
62	OVER BRIDGE TO BYE PASS ROAD JN.) MCGH/2024/062 - GOHANA-JIND ROAD (RAILWAY									23000		385		19423	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
-	OVER BRIDGE TO BYE PASS ROAD JN.) MCGH/2024/063 - GOHANA-JIND ROAD (BYE PASS	4	4	https://goo.gl/maps/jixuVy6CLSYhCC17A	7529	TYPOLOGY-B	MCGH/2024/062	4.6 X 3.05	14.03		19228		5395		ID	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
63	ROAD JN. TO RAILWAY OVER BRIDGE)	4	4	https://goo.gl/maps/zjBKWxJ7BH7MCe3B7	7530	TYPOLOGY-B	MCGH/2024/063	4.6 X 3.05	14.03	23000	19228	385	5395	19423	ID	INSTAL ALL STRUCTURE FACILITY REQUIRED
64	MCGH/2024/064 - GOHANA-JIND ROAD (BYE PASS ROAD JN. TO RAILWAY OVER BRIDGE)	4	4	https://goo.gl/maps/nw3YVuSctfXyNBcj7	7531	TYPOLOGY-B	MCGH/2024/064	4.6 X 3.05	14.03	23000	19228	385	5395	19423	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
65	MCGH/2024/065 - GOHANA-JIND ROAD (BYE PASS ROAD JN. TO RAILWAY OVER BRIDGE)	4	4	https://goo.gl/maps/tpuRMXhmcU1eZ2o66	7532	TYPOLOGY-B	MCGH/2024/065	4.6 X 3.05	14.03	23000	19228	385	5395	19423	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
66	MCGH/2024/066 - GOHANA-JIND ROAD (BYE PASS	4	4	https://goo.gl/maps/jPZDe6QzXAxy2Xm58	7533	TYPOLOGY-B	MCGH/2024/066	4.6 X 3.05	14.03	12500	10450	209	2932	10556	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
67	ROAD JN. TO MC LIMIT) MCGH/2024/067 - GOHANA-JIND ROAD (BYE PASS	4	4	https://goo.gl/maps/hP4oMjdeSDZfNc2W9	7534	TYPOLOGY-B	MCGH/2024/067	4.6 X 3.05	14.03	12500	10450	209	2932	10556	AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
	ROAD JN. TO MC LIMIT) MCGH/2024/068 - GOHANA-JIND ROAD (BYE PASS	4													ID AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
68	ROAD JN. TO MC LIMIT) MCGH/2024/069 - GOHANA-JIND ROAD (BYE PASS	4	4	https://goo.gl/maps/4Ku2ArGRMYG3iQwV6	7535	TYPOLOGY-B	MCGH/2024/068	4.6 X 3.05	14.03	12500	10450	209	2932	10556	ID	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
69	ROAD JN. TO MC LIMIT)	4	4	https://goo.gl/maps/Z2o3MQbTAjLr9Wrq5	7536	TYPOLOGY-B	MCGH/2024/069	4.6 X 3.05	14.03	12500	10450	209	2932	10556	ID	INSTAL ALL STRUCTURE FACILITY REQUIRED
70	MCGH/2024/070 - GOHANA-BARODA ROAD (VALMIKI CHOWK JN. TO RAILWAY CROSSING)	3	18	https://goo.gl/maps/DbcGYs85gXsuU3Py8	7537	TYPOLOGY-B	MCGH/2024/070	4.6 X 3.05	14.03	40000	33440	669	9383	33780	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
71	MCGH/2024/071 - GOHANA-BARODA ROAD (VALMIKI CHOWK JN. TO RAILWAY CROSSING)	3	18	https://goo.gl/maps/VL3eSt3dqukwoyfv6	7538	TYPOLOGY-B	MCGH/2024/071	4.6 X 3.05	14.03	40000	33440	669	9383	33780	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
72	MCGH/2024/072 - GOHANA-BARODA ROAD (VALMIKI	3	19	https://goo.gl/maps/z8pejpvbifeD2YqE8	7539	TYPOLOGY-B	MCGH/2024/072	4.6 X 3.05	14.03	40000	33440	669	9383	33780	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
73	CHOWK JN. TO RAILWAY CROSSING) MCGH/2024/073 - GOHANA-BARODA ROAD (VALMIKI	2	21	https://goo.gl/maps/FnTMpnfLvAfXZXij9	7540	TYPOLOGY-B	MCGH/2024/073	4.6 X 3.05	14.03	40000	33440	669	9383	33780	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
	CHOWK JN. TO RAILWAY CROSSING) MCGH/2024/074 - GOHANA-BARODA ROAD (VALMIKI	-					MCGH/2024/074								AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
74	CHOWK JN. TO RAILWAY CROSSING) MCGH/2024/075 - GOHANA-BARODA ROAD (RAILWAY	3	22	https://goo.gl/maps/dGu9cXRyFxRyYsAP8	7541	TYPOLOGY-B		4.6 X 3.05	14.03	40000	33440	669	9383	33780	ID AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
75	CROSSING TO BYE PASS ROAD JN.)	2	1	https://goo.gl/maps/zgsZJwiQYy6kMbQ69	7542	TYPOLOGY-B	MCGH/2024/075	4.6 X 3.05	14.03	12500	10450	209	2932	10556	ID	INSTAL ALL STRUCTURE FACILITY REQUIRED
76	MCGH/2024/076 - GOHANA-BARODA ROAD (RAILWAY CROSSING TO BYE PASS ROAD JN.)	2	2	https://goo.gl/maps/26aHYBsWGADPWN799	7543	TYPOLOGY-B	MCGH/2024/076	4.6 X 3.05	14.03	12500	10450	209	2932	10556	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
77	MCGH/2024/077 - GOHANA-BARODA ROAD (RAILWAY CROSSING TO BYE PASS ROAD IN.)	2	1	https://goo.gl/maps/hASrT3En1jURKaVm8	7544	TYPOLOGY-B	MCGH/2024/077	4.6 X 3.05	14.03	12500	10450	209	2932	10556	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
78	MCGH/2024/078 - GOHANA-BARODA ROAD (BYE PASS ROAD JN. TO MC LIMIT)	2	2	https://goo.gl/maps/fzN8sKDd6gikGTYD7	7545	TYPOLOGY-B	MCGH/2024/078	4.6 X 3.05	14.03	12500	10450	209	2932	10556	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
79	MCGH/2024/079 - GOHANA-BARODA ROAD (BYE PASS	2	1	https://goo.gl/maps/9bZxAP4Wf8PdrQ8fA	7546	TYPOLOGY-B	MCGH/2024/079	4.6 X 3.05	14.03	12500	10450	209	2932	10556	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
80	ROAD JN. TO MC LIMIT) MCGH/2024/080 - MUGULPURA ROAD (PANIPAT			https://goo.gl/maps/qBtxZKPY8Dy2YrDVA	7547	TYPOLOGY-B	MCGH/2024/080	4.6 X 3.05	14.03	35000	29260	585	8210	29557	AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
	CHUNGI TO DEVILAL CHOWK) MCGH/2024/081 - MUGULPURA ROAD (PANIPAT	4	9												ID	INSTAL ALL STRUCTURE FACILITY REQUIRED
81	CHUNGI TO DEVILAL CHOWK)	4	9	https://goo.gl/maps/aPJeQDYtwJmmSt7E9	7548	TYPOLOGY-B	MCGH/2024/081	4.6 X 3.05	14.03	35000	29260	585	8210	29557	ID	INSTAL ALL STRUCTURE FACILITY REQUIRED
82	MCGH/2024/082 - MUGULPURA ROAD (PANIPAT CHUNGI TO DEVILAL CHOWK)	4	9	https://goo.gl/maps/BozBsBWSMzcjrnKJA	7549	TYPOLOGY-B	MCGH/2024/082	4.6 X 3.05	14.03	35000	29260	585	8210	29557	ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
83	MCGH/2024/083 - GAJRAJ ROAD (ROHTAK ROAD JN. TO MAHAM ROAD JN.)	2	15	https://goo.gl/maps/q6qM3u6PdXAKq7hn7	7550	TYPOLOGY-B	MCGH/2024/083	4.6 X 3.05	14.03	26000	21736	435	6099	21957	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
84	MCGH/2024/084 - GAJRAJ ROAD (ROHTAK ROAD JN. TO MAHAM ROAD JN.)	2	15	https://goo.gl/maps/xTsukvZ8CtbAcRHA7	7551	TYPOLOGY-B	MCGH/2024/084	4.6 X 3.05	14.03	26000	21736	435	6099	21957	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
	TO INIAHAW ROAD JN.)	ш		1	1									1	שון	JUNEAU STRUCTURE FACILITY REQUIRED

85	MCGH/2024/085 - BYEPASS ROAD (MAHAM ROAD JN. TO BARODA ROAD JN.)	2	1 https://goo.gl/maps/f3ukc1526QnA4FG9A	7552	TYPOLOGY-B	MCGH/2024/085	4.6 X 3.05	14.03	10000	8360	167	2346	8445	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
86	MCGH/2024/086 - BYEPASS ROAD (MAHAM ROAD JN. TO BARODA ROAD JN.)	2	1 https://goo.gl/maps/GrDyw4swqd5briLK7	7553	TYPOLOGY-B	MCGH/2024/086	4.6 X 3.05	14.03	10000	8360	167	2346	8445	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
87	MCGH/2024/087 - BYEPASS ROAD (MAHAM ROAD JN. TO BARODA ROAD JN.)	2	1 https://goo.gl/maps/Y4TpiP1FjRzp6cMG9	7554	TYPOLOGY-B	MCGH/2024/087	4.6 X 3.05	14.03	10000	8360	167	2346	8445	AS PER ATTACHED IN PORTAL	
88	MCGH/2024/088 - BYEPASS ROAD (MAHAM ROAD JN. TO BARODA ROAD JN.)	2	1 https://goo.gl/maps/Bib5feZnQpv9HGXw5	7555	TYPOLOGY-B	MCGH/2024/088	4.6 X 3.05	14.03	10000	8360	167	2346	8445	AS PER ATTACHED IN PORTAL	
89	MCGH/2024/089 - BYEPASS ROAD (BARODA ROAD JN.) TO MAHAM ROAD JN.)	2	1 https://goo.gl/maps/nhCoHxkra6T87S4V6	7556	TYPOLOGY-B	MCGH/2024/089	4.6 X 3.05	14.03	10000	8360	167	2346	8445	AS PER ATTACHED IN PORTAL	
90	MCGH/2024/090 - BYEPASS ROAD (BARODA ROAD JN.	2	1 https://goo.gl/maps/P1SzrgbMActQgddJ8	7557	TYPOLOGY-B	MCGH/2024/090	4.6 X 3.05	14.03	10000	8360	167	2346	8445	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
91	TO MAHAM ROAD JN.) MCGH/2024/091 - BYEPASS ROAD (BARODA ROAD JN.	2	1 https://goo.gl/maps/kDSDifJfuaY8bTxX7	7558	TYPOLOGY-B	MCGH/2024/091	4.6 X 3.05	14.03	10000	8360	167	2346	8445	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
92	TO MAHAM ROAD JN.) MCGH/2024/092 - BYEPASS ROAD (BARODA ROAD JN.	2	1 https://goo.gl/maps/bMtwRvhCmgWmAWKD8	7559	TYPOLOGY-B	MCGH/2024/092	4.6 X 3.05	14.03	10000	8360	167	2346	8445	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
93	TO MAHAM ROAD JN.) MCGH/2024/093 - BYEPASS ROAD (BARODA ROAD JN.	2			TYPOLOGY-B				10000	8360	167	2346	8445	AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
	TO JIND ROAD JN.) MCGH/2024/094 - BYEPASS ROAD (BARODA ROAD JN.	3	2 https://goo.gl/maps/sFWtzJvfNPDjEE159	7560		MCGH/2024/093	4.6 X 3.05	14.03			-			AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
94	TO JIND ROAD JN.) MCGH/2024/095 - BYEPASS ROAD (BARODA ROAD JN.	3	2 https://goo.gl/maps/a2i2miaH9XbeZ2BNA	7561	TYPOLOGY-B	MCGH/2024/094	4.6 X 3.05	14.03	10000	8360	167	2346	8445	ID AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED
95	TO JIND ROAD JN.)	3	2 https://goo.gl/maps/oBM4JCVyPPGdCtc88	7562	TYPOLOGY-B	MCGH/2024/095	4.6 X 3.05	14.03	10000	8360	167	2346	8445	ID AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED
96	MCGH/2024/096 - BYEPASS ROAD (BARODA ROAD JN. TO JIND ROAD JN.)	3	4 https://goo.gl/maps/Jo8Tj97fufW38Nis8	7563	TYPOLOGY-B	MCGH/2024/096	4.6 X 3.05	14.03	10000	8360	167	2346	8445	ID AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED
97	MCGH/2024/097 - BYEPASS ROAD (BARODA ROAD JN. TO JIND ROAD JN.)	3	4 https://goo.gl/maps/8TBBEkKBdjAV4tSP9	7564	TYPOLOGY-B	MCGH/2024/097	4.6 X 3.05	14.03	10000	8360	167	2346	8445	ID	INSTAL ALL STRUCTURE FACILITY REQUIRED
98	MCGH/2024/098 - BYEPASS ROAD (BARODA ROAD JN. TO JIND ROAD JN.)	3	4 https://goo.gl/maps/kSdDznEUJdka1gqz8	7565	TYPOLOGY-B	MCGH/2024/098	4.6 X 3.05	14.03	10000	8360	167	2346	8445	AS PER ATTACHED IN PORTAL ID	INSTAL ALL STRUCTURE FACILITY REQUIRED
99	MCGH/2024/099 - BYEPASS ROAD (JIND ROAD JN. TO BARODA ROAD JN.)	3	4 https://goo.gl/maps/gXHExbG17yLg4t8b9	7566	TYPOLOGY-B	MCGH/2024/099	4.6 X 3.05	14.03	10000	8360	167	2346	8445	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
100	MCGH/2024/100 - BYEPASS ROAD (JIND ROAD JN. TO BARODA ROAD JN.)	3	4 https://goo.gl/maps/k1iTL5ZxTtjx4Mkw8	7567	TYPOLOGY-B	MCGH/2024/100	4.6 X 3.05	14.03	10000	8360	167	2346	8445	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
101	MCGH/2024/101 - BYEPASS ROAD (JIND ROAD JN. TO BARODA ROAD JN.)	3	4 https://goo.gl/maps/eu2higHRtsKQdjaK6	7568	TYPOLOGY-B	MCGH/2024/101	4.6 X 3.05	14.03	10000	8360	167	2346	8445	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
102	MCGH/2024/102 - BYEPASS ROAD (JIND ROAD JN. TO BARODA ROAD JN.)	3	2 https://goo.gl/maps/UbzHsT6NPw2NeZsw6	7569	TYPOLOGY-B	MCGH/2024/102	4.6 X 3.05	14.03	10000	8360	167	2346	8445	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
103	MCGH/2024/103 - BYEPASS ROAD (JIND ROAD JN. TO BARODA ROAD JN.)	3	2 https://goo.gl/maps/2YBaAZVizsUQeUax5	7570	TYPOLOGY-B	MCGH/2024/103	4.6 X 3.05	14.03	10000	8360	167	2346	8445	AS PER ATTACHED IN PORTAL	
104	MCGH/2024/104 - BYEPASS ROAD (JIND ROAD JN. TO BARODA ROAD JN.)	3	2 https://goo.gl/maps/1vW8sUp8BAAhfu4q7	7571	TYPOLOGY-B	MCGH/2024/104	4.6 X 3.05	14.03	10000	8360	167	2346	8445	AS PER ATTACHED IN PORTAL	
105	MCGH/2024/105 - GOHANA-MAHMUDPUR ROAD (JIND ROAD JN. TO MC LIMIT)	4	5 https://goo.gl/maps/LZzoP8s1q1dFCJcSA	7572	TYPOLOGY-B	MCGH/2024/105	4.6 X 3.05	14.03	11000	9196	184	2580	9289	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
106	MCGH/2024/106 - GOHANA-MAHMUDPUR ROAD	4	5 https://goo.gl/maps/iPNFEopGTZ9uVaES9	7573	TYPOLOGY-B	MCGH/2024/106	4.6 X 3.05	14.03	11000	9196	184	2580	9289	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
107	(JIND ROAD JN. TO MC LIMIT) MCGH/2024/107 - GOHANA-MAHMUDPUR ROAD	4	5 https://goo.gl/maps/RFUbyfA49qcdWXx57	7574	TYPOLOGY-B	MCGH/2024/107	4.6 X 3.05	14.03	11000	9196	184	2580	9289	AS PER ATTACHED IN PORTAL	
108	(JIND ROAD JN. TO MC LIMIT) MCGH/2024/108 - GOHANA-MAHMUDPUR ROAD	4	5 https://goo.gl/maps/z6qp3KRLKsy78Kah8	7575	TYPOLOGY-B	MCGH/2024/108	4.6 X 3.05	14.03	11000	9196	184	2580	9289	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
109	(JIND ROAD JN. TO MC LIMIT) MCGH/2024/109 - GOHANA-MAHMUDPUR ROAD		5 https://goo.gl/maps/i6pF242Lq2LLshPY7	7576	TYPOLOGY-B	MCGH/2024/109	4.6 X 3.05	14.03	11000	9196	184	2580	9289	AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
	(JIND ROAD JN. TO MC LIMIT) MCGH/2024/110 - GUDHA ROAD (MAHAM ROAD JN.	4					4.6 X 3.05	14.03	18000	15048	301	4222	15201	AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
110	TO GUDHA VILLAGE) MCGH/2024/111 - GUDHA ROAD (MAHAM ROAD JN.	2	23 https://goo.gl/maps/pokK15L3ermQpYch9	7577	TYPOLOGY-B	MCGH/2024/110								AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
111	TO GUDHA VILLAGE) MCGH/2024/112 - GUDHA ROAD (MAHAM ROAD JN.	2	23 https://goo.gl/maps/PEEqdTccayCAkZRY6	7578	TYPOLOGY-B	MCGH/2024/111	4.6 X 3.05	14.03	18000	15048	301	4222	15201	ID AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED
112	TO GUDHA VILLAGE) MCGH/2024/113 - GUDHA ROAD (MAHAM ROAD JN.	2	23 https://goo.gl/maps/xr8MyD5FeNkskbJD6	7579	TYPOLOGY-B	MCGH/2024/112	4.6 X 3.05	14.03	18000	15048	301	4222	15201	ID AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED
113	TO JLN SCHOOL) MCGH/2024/114 - GUDHA ROAD (MAHAM ROAD JN.	2	20 https://goo.gl/maps/ws97FyLpTWLKVUL6	7580	TYPOLOGY-B	MCGH/2024/113	4.6 X 3.05	14.03	18000	15048	301	4222	15201	ID AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED
114	TO JLN SCHOOL) MCGH/2024/115 - KHATIK MOHALLA ROAD (GAJRAJ	2	20 https://goo.gl/maps/fr8ey13Zh4cbnQ4Q7	7581	TYPOLOGY-B	MCGH/2024/114	4.6 X 3.05	14.03	18000	15048	301	4222	15201	ID AS PER ATTACHED IN PORTAL	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
115	ROAD JN. TO CIVIL ROAD JN.)	1	15 https://goo.gl/maps/ctRoNoe8EtJb3duw5	7582	TYPOLOGY-B	MCGH/2024/115	4.6 X 3.05	14.03	26000	21736	435	6099	21957	ID	INSTAL ALL STRUCTURE FACILITY REQUIRED
116	MCGH/2024/116 - SECTOR - 7 MARKET PARKING (IN PARKING AREA)	2	17 https://goo.gl/maps/nisWHRv86t3XcogL8	7583	TYPOLOGY-B	MCGH/2024/116	10.0 X 5.0	50	35000	29260	585	29260	105336	AS PER ATTACHED IN PORTAL ID	INSTAL ALL STRUCTURE FACILITY REQUIRED
117	MCGH/2024/117 - SECTOR - 7 MARKET PARKING (IN PARKING AREA)	2	17 https://goo.gl/maps/1yfe9xzGrEHwez9GA	7584	TYPOLOGY-B	MCGH/2024/117	10.0 X 5.0	50	35000	29260	585	29260	105336	AS PER ATTACHED IN PORTAL ID	INSTAL ALL STRUCTURE FACILITY REQUIRED
118	MCGH/2024/118 - SECTOR - 7 MARKET PARKING (IN PARKING AREA)	2	17 <u>https://goo.gl/maps/3V9CDCg6o315aPaz6</u>	7585	TYPOLOGY-B	MCGH/2024/118	10.0 X 5.0	50	35000	29260	585	29260	105336	AS PER ATTACHED IN PORTAL ID	INSTAL ALL STRUCTURE FACILITY REQUIRED
119	MCGH/2024/119 - SECTOR - 7 MARKET PARKING (IN PARKING AREA)	2	17 <u>https://goo.gl/maps/EY3Xy1SxqwfZGRcNA</u>	7586	TYPOLOGY-B	MCGH/2024/119	10.0 X 5.0	50	35000	29260	585	29260	105336	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
120	MCGH/2024/120 - SECTOR - 7 MARKET PARKING (IN PARKING AREA)	2	15 https://goo.gl/maps/3U7odrc2YFH36GWa7	7587	TYPOLOGY-B	MCGH/2024/120	10.0 X 5.0	50	35000	29260	585	29260	105336	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
121	MCGH/2024/121 - SECTOR - 7 MARKET PARKING (IN PARKING AREA)	2	15 https://goo.gl/maps/wuFUGgRtiNivEhAA9	7588	TYPOLOGY-B	MCGH/2024/121	10.0 X 5.0	50	35000	29260	585	29260	105336	AS PER ATTACHED IN PORTAL ID	
122	MCGH/2024/122 - OLD ANAJ MANDI (IN SIDE PARK)	4	7 https://goo.gl/maps/TKByNKxqso1rLMf28	7589	TYPOLOGY-B	MCGH/2024/122	10.0 X 5.0	50	30000	25080	502	25080	90288	AS PER ATTACHED IN PORTAL ID	
123	MCGH/2024/123 - OLD ANAJ MANDI (IN SIDE PARK)	4	7 https://goo.gl/maps/tbipwzHi5yQbQgNe9	7590	TYPOLOGY-B	MCGH/2024/123	10.0 X 5.0	50	30000	25080	502	25080	90288	AS PER ATTACHED IN PORTAL	
124	MCGH/2024/124 - SHAHEED MADAN LAL DHINGRA PARK (IN SIDE PARK)	4	9 https://goo.gl/maps/1B8pTRyMCh4kMY2A8	7591	TYPOLOGY-B	MCGH/2024/124	10.0 X 5.0	50	17300	14463	289	14463	52066	AS PER ATTACHED IN PORTAL	
125	MCGH/2024/125 - SHAHEED MADAN LAL DHINGRA PARK (IN SIDE PARK)	4	9 https://goo.gl/maps/zXcsMbMpHjspRkpcA	7592	TYPOLOGY-B	MCGH/2024/125	10.0 X 5.0	50	17300	14463	289	14463	52066	AS PER ATTACHED IN PORTAL	
126	MCGH/2024/126 - SWARAN JAYANTI PARK (IN SIDE	3	3 https://goo.gl/maps/harU4YZTcTyrWaQk7	7593	TYPOLOGY-B	MCGH/2024/126	10.0 X 5.0	50	12200	10199	204	10199	36717	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
127	PARK) MCGH/2024/127 - SWARAN JAYANTI PARK (IN SIDE	3	3 https://goo.gl/maps/PVxEVXjZX9xe3AqS7	7594	TYPOLOGY-B	MCGH/2024/127	10.0 X 5.0	50	12200	10199	204	10199	36717	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
128	PARK) MCGH/2024/128 - SWARAN JAYANTI PARK (IN SIDE	3	3 https://goo.gl/maps/NDEADZvjWNKSEQam9	7595	TYPOLOGY-B	MCGH/2024/128	10.0 X 5.0	50	12200	10199	204	10199	36717	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
129	PARK) MCGH/2024/129 - SWARAN JAYANTI PARK (IN SIDE	3	3 https://goo.gl/maps/H6qs1if8G69PNMUY6	7596	TYPOLOGY-B	MCGH/2024/129	10.0 X 5.0	50	12200	10199	204	10199	36717	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
130	PARK) MCGH/2024/130 - SWARAN JAYANTI PARK (IN SIDE	,	3 https://goo.gl/maps/owhunSgnvZ7JDWBN9	7597	TYPOLOGY-B	MCGH/2024/129	10.0 X 5.0	50	12200	10199	204	10199	36717	AS PER ATTACHED IN PORTAL	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
	PARK) MCGH/2024/131 - JAWAHAR LAL NEHRU PARK (IN SIDE	3						50						ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
131	PARK) MCGH/2024/132 - JAWAHAR LAL NEHRU PARK (IN SIDE	4	6 https://goo.gl/maps/i7LM2p4CizsKMstz5	7598	TYPOLOGY-B	MCGH/2024/131	10.0 X 5.0		12200	10199	204	10199	36717	ID	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
132	PARK) MCGH/2024/133- JAWAHAR LAL NEHRU PARK (IN SIDE	4	6 https://goo.gl/maps/R3F9uzZ6WsxwYszQ9	7599	TYPOLOGY-B	MCGH/2024/132	10.0 X 5.0	50	12200	10199	204	10199	36717	ID	INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD
133	PARK) MCGH/2024/133 - JAWAHAR DAE NEHRO PARK (IN SIDE PARK) MCGH/2024/134 - CHANDER SHEKHAR AZAD PARK (IN	4	6 https://goo.gl/maps/bk8X1ZJ4LY9wzVQj8	7600	TYPOLOGY-B	MCGH/2024/133	10.0 X 5.0	50	12200	10199	204	10199	36717	ID	INSTAL ALL STRUCTURE FACILITY REQUIRED
134	SIDE PARK)	4	12 https://goo.gl/maps/kKER8AC7fQwhyEydA	7601	TYPOLOGY-B	MCGH/2024/134	10.0 X 5.0	50	17300	14463	289	14463	52066	ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED OMD SITE WITHOUT LINIPOLE AGENCY SHOULD
135	MCGH/2024/135 - CHANDER SHEKHAR AZAD PARK (IN SIDE PARK)	4	12 https://goo.gl/maps/un7TV3vMSdS3Jw9fA	7602	TYPOLOGY-B	MCGH/2024/135	10.0 X 5.0	50	17300	14463	289	14463	52066	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED

136 MCGH/2024/136 - SHAHEED MADAN LAL DHINGRA STADIUM (IN SIDE STADIUM)	4	9	https://goo.gl/maps/pfNrXVQz5kHqcapf8	7603	TYPOLOGY-B	MCGH/2024/136	10.0 X 5.0	50	17300	14463	289	14463	52066	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
137 MCGH/2024/137 - SHAHEED MADAN LAL DHINGRA STADIUM (IN SIDE STADIUM)	4	9	https://goo.gl/maps/5ha8sZgMKYKppfYX8	7604	TYPOLOGY-B	MCGH/2024/137	10.0 X 5.0	50	17300	14463	289	14463	52066	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
138 MCGH/2024/138 - SHAHEED MADAN LAL DHINGRA STADIUM (IN SIDE STADIUM)	4	9	https://goo.gl/maps/3SjB4MdDTQipTBfc8	7605	TYPOLOGY-B	MCGH/2024/138	10.0 X 5.0	50	17300	14463	289	14463	52066	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
139 MCGH/2024/139 - SECTOR - 7 PARK (IN SIDE PARK)	2	17	https://goo.gl/maps/Fb1dXwsbcc1zswFd7	7606	TYPOLOGY-B	MCGH/2024/139	10.0 X 5.0	50	35000	29260	585	29260	105336	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
140 MCGH/2024/140 - SECTOR - 7 PARK (IN SIDE PARK)	2	17	https://goo.gl/maps/4N3UfkG8vA5CLaHd8	7607	TYPOLOGY-B	MCGH/2024/140	10.0 X 5.0	50	35000	29260	585	29260	105336	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
141 MCGH/2024/141 - SECTOR - 7 PARK (IN SIDE PARK)	2	17	https://goo.gl/maps/p8euiMCcKaxUY9QP6	7608	TYPOLOGY-B	MCGH/2024/141	10.0 X 5.0	50	35000	29260	585	29260	105336	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
142 MCGH/2024/142 - SECTOR - 7 PARK (IN SIDE PARK)	2	17	https://goo.gl/maps/Rv6YTwxK5Ucz8Pc89	7609	TYPOLOGY-B	MCGH/2024/142	10.0 X 5.0	50	35000	29260	585	29260	105336	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
143 MCGH/2024/143 - SECTOR - 7 PARK (IN SIDE PARK)	2	17	https://goo.gl/maps/1aHGwSPu52YERaz79	7610	TYPOLOGY-B	MCGH/2024/143	10.0 X 5.0	50	35000	29260	585	29260	105336	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
144 MCGH/2024/144 - SECTOR - 7 PARK (IN SIDE PARK)	2	17	https://goo.gl/maps/McKuW4prwWEiBHmU9	7611	TYPOLOGY-B	MCGH/2024/144	10.0 X 5.0	50	35000	29260	585	29260	105336	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
145 MCGH/2024/145 - SECTOR - 7 PARK (IN SIDE PARK)	2	17	https://goo.gl/maps/nbnYBbohxgK572yx7	7612	TYPOLOGY-B	MCGH/2024/145	10.0 X 5.0	50	35000	29260	585	29260	105336		OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
146 MCGH/2024/146 - SECTOR - 7 PARK (IN SIDE PARK)	2	17	https://goo.gl/maps/5J3gdsm2rGvfr1Gw5	7613	TYPOLOGY-B	MCGH/2024/146	10.0 X 5.0	50	35000	29260	585	29260	105336		OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
147 MCGH/2024/147 - SECTOR - 7 PARK (IN SIDE PARK)	2	17	https://goo.gl/maps/CmVwyuz5QdmgKBft7	7614	TYPOLOGY-B	MCGH/2024/147	10.0 X 5.0	50	35000	29260	585	29260	105336	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
148 MCGH/2024/148 - SECTOR - 7 PARK (IN SIDE PARK)	2	17	https://goo.gl/maps/UgJ9tYVnKqf1Fa4w6	7615	TYPOLOGY-B	MCGH/2024/148	10.0 X 5.0	50	35000	29260	585	29260	105336	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
149 MCGH/2024/149 - RAILWAY PARK, WARD NO. 7 (IN SIDE PARK)	4	7	https://goo.gl/maps/tXZ1kVFWLrSEg66y8	7616	TYPOLOGY-B	MCGH/2024/149	10.0 X 5.0	50	13000	10868	217	10868	39125	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
150 MCGH/2024/150 - JYOTIBA PHOOLE PARK (IN SIDE PARK)	1	10	https://goo.gl/maps/9QeafpNxQYTtTX2X8	7617	TYPOLOGY-B	MCGH/2024/150	10.0 X 5.0	50	13000	10868	217	10868	39125	AS PER ATTACHED IN PORTAL ID	OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
151 MCGH/2024/151 - JYOTIBA PHOOLE PARK (IN SIDE PARK)	1	10	https://goo.gl/maps/3mV83YjDWMA6HkpL7	7618	TYPOLOGY-B	MCGH/2024/151	10.0 X 5.0	50	13000	10868	217	10868	39125		OMD SITE WITHOUT UNIPOLE, AGENCY SHOULD INSTAL ALL STRUCTURE FACILITY REQUIRED
TOTAL								3413.45	·			1298419	4674307		

FOR ONE YEAR 15581023 4674307